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o Purpose
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o Test Technique
- b8 A Yol wet W35k R E S AL R g
- JDK 1.43+7] 2] Eclipse Juno®l| 4] JUnit& A}-&-3}¢] 233k},
o Test Execution Environment

- Window 7 64bit
- Eclipse Juno with JDK 1.4
- JUnit

o Test Item
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o Features not to be Tested
-GUI #¥ 2§ A&
showWindow1()
paint()
- Data Ag & A2
get, set Functions

o Features to be Tested
-HAAQ T e FHH= BE

requestLoadCut()
requestBrushing()
requestSetLineSize()
requestSelectAreal()
requestCutOffArea()
requestPasteArea()

requestAddCut()
requestDelCut()
requestMergeCut()




Unit Test Specification




I
Test Design Specification

o requestLoadCut()

Cleatifier | Fewre | Vawe

WTT.UTD.o1 pj.cuts ABZ B8 Q7] 75 AL A9 Ao| ) Z}

o requestBrushing()

_Identifier | Feawre | Vale

SelectedTool AR L5 Y= BT 12 HAHY
0. None

WTT.UTD.o2 1. Brush
2. FEraser
3. Area

dt.linesize DrawingTool®l| A &% #7]
1. 7FA
5. 5 A

o requestSetLineSize()

Clgemtifier | Femwre | Vame

WTT.UTD.o3 Input/ size HAZ F77]
this.size Interface®| A AHE-3}3 Q)= F7], AT F7]1= HF
dt.linesize DrawingTool®l %% F7], WA F7|2 H7
1. 7F=7A
5. F 7




Test Design Specification

o requestSelectArea()

Clgemtifier | Feswre | Vame

SelectedTool 3 x]] ALE Y EF 307 WA
None

Brush

Eraser

Area

o

WTT.UTD.o4

Y s

o requestCutOffArea()

Clgemtifier | Femwre | Vawe

WTT.UTD.o5 at.areastat o o o] A3} Aty Ze) 7] 3 u| & A EkElY)

SelectedTool A AHSET Y= EF, 022 HAEY
0. None

Brush

Eraser

Area

1.
2,
3-




Test Design Specification

o requestPasteArea()

ot | Femme L Vame
WTT.UTD.06 At.areastat g o] FA3 A, B T EA3=Y

pj.cuts AEE

SelectedTool A ALE LY 5F 303 HAST
0. None
1. Brush
2. Eraser
3. Area

o requestAddCut()

_Identifier | Feawre | Vae

WTT.UTD.o7 pj.cuts = Fo] s Zv}
A

.E'_
b
cuts.cutstat g H o) FA3) B =] A5, vpA| o Sk 245}

2

EnabledCutNum A3 E A HFE A BEo Aoz ¥




I
Test Design Specification

o requestDelCut()

Clgemtifier | | Feswre | Vame

WTT.UTD.0o8 pj.cuts 7 B Aol sl T
cuts.cutstat B} Ao] A3} 5] QP =x] o] B A35lE]o] 9)dl A
o o= AT 243
EnabledCutNum FA3ls] Aol WHIE

o requestMergeCut()

Identifier

WTT.UTD.09 pj.cuts A BE Ao s} =7}
cuts.cutstat s A o) A3} 5] =] of B, ulx| 2t Awl 543}
cuts.height S} Aol Z+31 9L o]u]x] 2] Eo]

ey
EnabledCutNum A3 E A HE A BZo Zdo|2 WA




Test Case Specification

m Input Specification Output Specification

WTT.UTC.01.01 pj.cuts.size() = 0 pj.cuts.size() = 1
WTT.UTC.01.02 pj.cuts.size() = 1 pj.cuts.size() = 2
WTT.UTC.01.03 pj.cuts.size() = 2 pj.cuts.size() = 3
WTT.UTC.01.04 pj.cuts.size() = 3 pj.cuts.size() = 4

WTT.UTC.01.05 pj.cuts.size() = 9999 pj-cuts.size() = 10000




Test Case Specification

Input Specification Output Specification

WTT.UTC.02.01 dt.linesize = 1, SelectedTool = 0 dt.linesize = 1, SelectedTool = 1
WTT.UTC.02.02 dt.linesize = 1, SelectedTool = 1 dt.linesize = 1, SelectedTool = 1
WTT.UTC.02.03 dt.linesize = 1, SelectedTool = 2 dt.linesize = 1, SelectedTool = 1
WTT.UTC.02.04 dt.linesize = 1, SelectedTool = 3 dt.linesize = 1, SelectedTool = 1
WTT.UTC.02.05 dt.linesize = 1, SelectedTool = 0 dt.linesize = 1, SelectedTool = 1
WTT.UTC.02.06 dt.linesize = 5, SelectedTool = 0 dt.linesize = 5, SelectedTool = 1
WTT.UTC.02.07 dt.linesize = 5, SelectedTool = 1 dt.linesize = 5, SelectedTool = 1
WTT.UTC.02.08 dt.linesize = 5, SelectedTool = 2 dt.linesize = 5, SelectedTool = 1

WTT.UTC.02.09 dt.linesize = 5, SelectedTool = 3 dt.linesize = 5, SelectedTool = 1




Test Case Specification

Input Specification Output Specification

WTT.UTC.03.01 size = 1, this.size = 5, dt.linesize = 5 this.size = 1, dt.linesize = 1
WTT.UTC.03.02 size = 1, this.size = 1, dt.linesize = 5 this.size = 1, dt.linesize = 1
WTT.UTC.03.03 size = 1, this.size = 1, dt.linesize = 1 this.size = 1, dt.linesize = 1
WTT.UTC.03.04 size = 1, this.size = 5, dt.linesize = 1 this.size = 1, dt.linesize = 1
WTT.UTC.03.05 size = 5, this.size = 5, dt.linesize = 5 this.size = 5, dt.linesize = 5
WTT.UTC.03.06 size = 5, this.size = 1, dt.linesize = 5 this.size = 5, dt.linesize = 5
WTT.UTC.03.07 size = 5, this.size = 1, dt.linesize = 1 this.size = 5, dt.linesize = 5

1 this.size = 5, dt.linesize = 5

WTT.UTC.03.08 size = 5, this.size = 5, dt.linesize




Test Case Specification

m Input Specification Output Specification

WTT.UTC.04.01 SelectedTool = o SelectedTool = 3
WTT.UTC.04.02 SelectedTool =1 SelectedTool = 3
WTT.UTC.04.03 SelectedTool = 2 SelectedTool = 3

WTT.UTC.04.04 SelectedTool = 3 SelectedTool = 3




Test Case Specification

Input Specification Output Specification

WTT.UTC.05.01 at.areastat = true, SelectedTool = 0 at.areastat = false, SelectedTool = 0
WTT.UTC.05.02 at.areastat = true, SelectedTool = 1 at.areastat = false, SelectedTool = 0
WTT.UTC.05.03 at.areastat = true, SelectedTool = 2 at.areastat = false, SelectedTool = 0
WTT.UTC.05.04 at.areastat = true, SelectedTool = 3 at.areastat = false, SelectedTool = 0
WTT.UTC.05.05 at.areastat = false, SelectedTool = o0 at.areastat = false, SelectedTool = 0
WTT.UTC.05.06 at.areastat = false, SelectedTool = 1 at.areastat = false, SelectedTool = 0
WTT.UTC.05.07 at.areastat = false, SelectedTool = 2 at.areastat = false, SelectedTool = 0

WTT.UTC.05.08 at.areastat = false, SelectedTool = 3 at.areastat = false, SelectedTool = 0




Test Case Specification

Input Specification Output Specification

WTT.UTC.06.01 at.areastat = true, SelectedTool = 0 at.areastat = true, SelectedTool = 3
WTT.UTC.06.02 at.areastat = true, SelectedTool = 1 at.areastat = true, SelectedTool = 3
WTT.UTC.06.03 at.areastat = true, SelectedTool = 2 at.areastat = true, SelectedTool = 3
WTT.UTC.06.04 at.areastat = true, SelectedTool = 3 at.areastat = true, SelectedTool = 3
WTT.UTC.06.05 at.areastat = false, SelectedTool = 0 at.areastat = true, SelectedTool = 3
WTT.UTC.06.06 at.areastat = false, SelectedTool = 1 at.areastat = true, SelectedTool = 3
WTT.UTC.06.07 at.areastat = false, SelectedTool = 2 at.areastat = true, SelectedTool = 3

WTT.UTC.06.08 at.areastat = false, SelectedTool = 3 at.areastat = true, SelectedTool = 3




Test Case Specification

Input Specification Output Specification

pj.cuts.size() = o, pj.cuts.size() = 1,

UL 0701 pj.cuts.get(EnabledCutNum).cutstat = err pj.cuts.get(1).cutstat = true

pj.cuts.size() = 1, pj.cuts.size() = 2,

AU @702 pj.cuts.get(EnabledCutNum).cutstat = true  pj.cuts.get(2).cutstat = true

pj-cuts.size() = 2, pj.cuts.size() = 3,

AN 7] pj.cuts.get(EnabledCutNum).cutstat = true  pj.cuts.get(3).cutstat = true

pj.cuts.size() = 3, pj.cuts.size() = 4,

-UTC.07.04 pj.cuts.get(EnabledCutNum).cutstat = true  pj.cuts.get(4).cutstat = true

WTT.UTC.07.05 DJ-cuts-sizel) = 999, pj.cuts.size() = 1000,

pj.cuts.get(EnabledCutNum).cutstat = true  pj.cuts.get(1000).cutstat = true




Test Case Specification

Input Specification Output Specification

pj.cuts.size() = o0, pj.cuts.size() = o0,

REEUIECE pj.cuts.get(EnabledCutNum).cutstat = err  pj.cuts.get(0).cutstat = err

pj.cuts.size() = 1, pj.cuts.size() = o,

RELEECLS o2 pj.cuts.get(EnabledCutNum).cutstat = true  pj.cuts.get(0).cutstat = err

pj-cuts.size() = 2, pj.cuts.size() = 3,

RELEHCoS s pj.cuts.get(EnabledCutNum).cutstat = true  pj.cuts.get(3).cutstat = true

pj.cuts.size() = 3, pj.cuts.size() = 4,

REEHC s o pj.cuts.get(EnabledCutNum).cutstat = true  pj.cuts.get(4).cutstat = true

WTT.UTC.08.05 pj.cuts.size() = 999, pj.cuts.size() = 998,

pj.cuts.get(EnabledCutNum).cutstat = true  pj.cuts.get(998).cutstat = true




Test Case Specification

WTT.UTC.09.01

WTT.UTC.09.02

WTT.UTC.09.03

WTT.UTC.09.04

WTT.UTC.09.05

pj.cuts.size() = o,
pj.cuts.get(EnabledCutNum).cutstat = err
pj.cuts.get(EnabledCutNum).height = err

pj.cuts.size() = 1,
pj.cuts.get(EnabledCutNum).cutstat = true
pj.cuts.get(EnabledCutNum).height = 500

pj.cuts.size() = 2,
pj.cuts.get(EnabledCutNum).cutstat = true
pj.cuts.get(EnabledCutNum).height = 500

pj.cuts.size() = 3,
pj.cuts.get(EnabledCutNum).cutstat = true
pj.cuts.get(EnabledCutNum).height = 500

pj.cuts.size() = 999,
pj.cuts.get(EnabledCutNum).cutstat = true

pj.cuts.get(EnabledCutNum).height = 500

pj.cuts.size() = o,
pj.cuts.get(0).cutstat = err
pj.cuts.get(EnabledCutNum).height = err

pj.cuts.size() = 2,
pj.cuts.get(2).cutstat = true
pj.cuts.get(EnabledCutNum).height > 500

pj.cuts.size() = 3,
pj.cuts.get(3).cutstat = true
pj.cuts.get(EnabledCutNum).height > 500

pj.cuts.size() = 4,
pj.cuts.get(4).cutstat = true
pj.cuts.get(EnabledCutNum).height > 500

pj.cuts.size() = 1000,
pj.cuts.get(1000).cutstat = true
pj.cuts.get(EnabledCutNum).height > 500



Unit Test Report




-
Unit Test Report

[ Project Explorer | gfu JUnit 53 = 0O

BEEM%Q: m [~ ¥

Finished after 7.236 seconds

Runs: 9/9 B Errors: 0O B Failures: 0

4 | g InterfaceTest [Runner: JUnit 4] (7.181 s)|
eE] testRequestLoadImage (5.794 <)
E'E testRequestBrushing (0.011 =)
rEl testRequestSetLineSize (0.023 5)
£| testRequestSelectArea (0.001 <)
£| testrequestCutOffArea (0.092 <)
e testRequestPasteArea (0.029 s)
rEl testRequestAddCut (0.014 s)
El testRequestDelCut (0.012 5)
eEl testRequestMergeCut (0.204 s)




